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We compare it to a creditor — 1795 J9mTR 21 DAk

OVERVIEW

The X773 initially sought to say that if a 21°1 demands a larger portion of n°1112 at
the current lower valuation (equal to his loss), the p°ia can refuse by saying you
may take nN°7°¥ at the current valuation; however n°111°2 you will have to take at the
higher valuation. The X713 refuted this that since the 7710 gave the pr1 the right to
collect even from N7y (at the current valuation) then if you will deny him n°111°2
(or n°12°7) at the current valuation you are diminishing his strength that the 77
awarded him. The X3 retracted, and stated that it applies to a 11"vy32; that he cannot
request N°12°7 at the current valuation (only n°111°2). mdoIn will explain why the
same difficulty of 1?11 does not apply here to a 1"y2.

MooIN anticipates a question:
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And it is inappropriate to challenge; ‘if so, you have denigrated his strength
(of the 2 Hva)’, for we are not allowing him to collect from n>™2°r at the current valuation,
when the 11"v2 is entitled to receive (even) RNWIT ot

mooIn explains that it is not a question:
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For the 770 did not enhance the strength of the n''v2; rather on the contrary
the 7710 diminished his strength, for 719057 32 the lawful claim of a n"'v2 is (only)

against the nM2° of the mMY. Therefore by not allowing the 1"¥2 to collect from the v N2
XNWaT2 XN, we are not diminishing his strength, for his strength is initially very limited.’

SUMMARY
We cannot say 112 ny7 by a r1"'v2 for he never had a 12 M19°.

THINKING IT OVER
Why cannot the m>» argue that n>12°7 YR °nd Ny, for T have a 191277 12 M9 to
collect n111027°

" mooin is asking that we should have the same objection by a "y2 as we had previously by the pra.

2t is only 1312177 that a n"va can collect from n°112°2 (in order 7 192 N?7 ¥ KOW).

> When we say that 011212 17 1"va X7, it does not (necessarily) mean that he has a right to the n*12°1 of the
mM?>; but rather on the contrary, he has no rights at all. The Mm% can give him whatever the % chooses (this is derived
from the [X>,72 (XXN) 0°127] 7377 VAT DR THOR X221 12 AW I0R WK WX ,P109). Therefore the M2 can insist that he
either take Xnwi72 N2 (which he deserves n"pn 5"v), or mmp?7 XIP1Td N2, [It is the exact opposite of 2vn,
where the P11 can choose whatever type of ¥pp he desires; n°112°7 included.] The above should also explain why the
71 cannot claim 2°1o1 NIPN2 X"R. See 7" NN 1" M.

* See 7¥p NIX "1
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